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QUESTION 1

In a solution where Granite appliance is providing projected LUNs to the branch office the Granite Edge is considered
what? 

A. ESXi server and LUN 

B. MPIO initiator 

C. iSCSI target 

D. iSCSI initiator 

Correct Answer: C 

 

QUESTION 2

Which Granite appliance feature would be used to implement disconnected operations? (Select 2) 

A. Pinning 

B. Offlining 

C. High availability 

D. MPIO 

E. Prepopulation 

Correct Answer: AE 

 

QUESTION 3

The term for "fixing" a LUN\\'s blocks in blockstore so that they may not be ejected via LRU is: 

A. Pinning 

B. Prepop 

C. Snapshot 

D. Online 

Correct Answer: A 

 

QUESTION 4

Granite Edge appliance supports which of the following protocols? (Select 2) 
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A. Fiber channel 

B. iSCSI 

C. MPIO 

D. NFS 

Correct Answer: BC 

 

QUESTION 5

What two components are required to form an iSCSI connection? (Select 2) 

A. An iSCSI initiator. 

B. An iSCSI source. 

C. An iSCSI client. 

D. An iSCSI server. 

E. An iSCSI destination. 

F. An iSCSI target. 

Correct Answer: AF 
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